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) (cm) (Q (cm) (@) )
1 3 41.3 4.263 58.4 4211 4.237
2 4 49.1 4.146 50.5 4.080 4.113
3 5 54.7 4.140 44.6 4.025 4.082
4 6 59.0 4.169 39.9 3.983 4.076
Fgrafl X 4.127 Q
olule . -
aPlienlp = @60en6v; FPSI MBS = B6Lem6v; wFApmeney = 0.01mm
al. Y.Cxr.o1 5.851.9 Qurss ieneid Fflwmren Sieneli®
oTGmT PSR HSC TR = PSR + (HSC x LC) =TR+ ZC
(mm) (div) (mm) (mm)
1 0 51 0.51 0.51
2 0 52 0.52 0.52
3 0 53 0.53 0.53
4 0 51 0.51 0.51
5 0 52 0.52 0.52
ggnafl 2r 0.518 mm
r=10.259 X 1073m
(M R=30Q
1=413cm 1 =58.4cm X
. - Ra00-p X Rl o XitXe
1 l 27 100-1) ) 2
x, = 3(100-41.3) _ 3x584 y o h263+4211
1 413 X2 = Ho0—38.9) 2
Xy = 4.263Q Xz =4.2110 X = 4.2370Q
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(i) R=40Q
1=49.1cm 1=50.5cm X
_4(100—49.1) X, = 4 x50.5 X_4.146+4.080
1= 49.1 2~ (100 -50.5) B 2
X1 =4.1460 X, = 4.0800 X =4.1130Q
(i) R=50
I =54.7cm | =44.6cm X
5(100 - 54.7) 5x44.6 4.140 + 4.025
= ——— X,=—— 0 X=———"""
54.7 (100 — 44.6) 2
X1 =4.1400Q X, = 4.0250 X =4.0820
(iv) R=60Q
| =59.0cm 1=39.9cm X
6 (100 —59.0) X = 6x39.9 Q X_4.169+3.983Q
1= 59.0 2~ (100 —39.9) > 2
X1 =4.169Q X, = 3.983Q X =4.076Q
a:u_"_a:m X = 4.237+4.1131—4.082+4.076 Q
X 16.508
4
X=4.1270
Xnr?

siFsmellen WersemLstent (P =
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4.127%3.14%(0.259x10~3)2
1

p=4.127x3.14 % 0.259 x 0.259 x 107°

p=8.692x10"7 Qm
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OaTBWOUTEHI SreveusTOL Lflsd ailevassy iH6raly Henagulsd EmbaHTs0 WsiiammBlsd Senewill] FFluITs 2 _6iTengl.

o  Oxrhsmalemw swuler g BHIHHH STeoautemifl Lflsd SHifeleusemey gBLUBHSHID Lo -6i1 FLoeTGIFUl
semd AJ = loenal_LGans

R (100-1
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L
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() Qar@ésiu @Gsien sblFsmeisn WeigemL X = 4.127()

(i) Gan@sain Geren sblsa®alsr WaisomL asm p = 8.692 x 1077 Qm
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SibLtb Gajafing A (gedf) Gayefiuy B (gl
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or o o)
0 0 (360°) 180 0 180°0
Gaumun® D 39°30’ 39°20’
39°30’+39°20’ 78°50’ 0
ggngfl D = = = 39 25'pdf

2

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net - Nogl,Equcatianal Vi ebsite in Tamilnadu

K.I'YYAPPAN PG ASSIST., GHSS V.PAGANDAI

& 6015855 SH6IT:
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sin(ﬂ)
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By = (T)
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k = A
tan @ ( )
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ST uFe|H6iT:
HDIFHM6T SHBmIGeTen eTewTenidbams n=2
sLFHmeNen SHbmerne) 2nr =49 cm
Lo ) . _ 49x107%2
sLFsHmefer Syb ox31a M= 0.078m
al. LOl6ST@aTL_L LD BLehTFai. smeveusmSLLflsd eflevdsasid gyrefl O I = 1
eTeuin I (9&lfl) " tan@
(A) 0, 0, 05 0, (9&i)
(4)
1 1.7 37 37 38 38 37.5 2.215
2 1.9 41 41 42 42 41.5 2.147
3 2.1 43 43 44 44 43.5 2.212
4 2.3 45 45 46 46 45.5 2.260
gynaf k 2208 A
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&M1& (B IH6IT:

() I1=174 6=37.5udf

k= r _ 17 =2.2154
" tan® tan37.5
(i) I=1.94, 0 =41.5uyaf
k= r __19 =2.147 A
" tan6 tan41.5
(iii) I=2.14, 0 =43.5 pdif
k= r __21 =2.2124
" tan® tan43.5
(iv) I=2.3A, 60 =45.5 paf
k= r __23 =2.2604
" tan6 tan45.5
2.215+2.147+2.212+2.260 8.834
Fynay) k= =
4 4
k=2.208A
YallsThSLILeSH6N BenLSHHensdaml
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By = T
n=—5— @D
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By = 4x3.14x1077x2x2.208 T

2x0.078
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By =3.56x10"5T
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3. WeerpsdHHLome

euTuILIT(®:
A leisevsideaien Lsialwbgelemnaseien HEe| €1 — l_l (o005 Beoma)
g b ®
G&PuiG el &HID NG
&1 GevdeomEhd L6iImeveMel  LO6TelLIB@elena V
&y BGLevflwied LOlsiIEBevEN6 LTl LIS EelenF V
l1 Qevdseonehd) 10siTEevaRe FIOIQFUI BaTD cm
lZ GLalwed  1l6iismevanen FOGIOFUT HeniD cm
lT&HBH  eUMTLILLD:
Rh
Bt I
i | (o) M
Ce J oD
Ml &5 IN
L eM N G [HR]
M, e o N
A \_{g}}.—‘ A
ST_F uge)
6. 6160 Bovdbeomehd  16l6iTEH6V6 6B GLauled 16l 60V 63T &g L
Fa0F1 Bemb 14 Qs gembd I, & I,
(cm) (cm)
1 436 323 1.3498
2 516 375 1.3760
3 584 427 1.3676
4 679 515 1.3184
5 736 530 1.3886
6 796 569 1.3989
FyTE 2—1 1.3665( 2006 somev)
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&M1& (B IH6IT:
A leisevsideaien Lsialwbgelemnaseien HEe| 2_1 = 5—1 (o005 Bsvamev)
2 2
1) 1; =436 x1072m; I, =323 x10%m

£ _ 436 x107%m

& 323x10Zm = 1.3498 (8I6\)@ BlsLemev)

2) 1y =516 x107%m; I, =375 x10%m

£ 516x107%m _
& 375x10~2m 1.3760 (o108 Bsoemev)

3) 1; =584 x102%m; I, =427 x107%m

£ _ 584x107%m ,
£, 427x102m 1.3676 (210 Bsvemev)

4) l; =679 x107%m; I, =515%x10"%m

£ _ 679x107%m _ _
£ 515x10~2m 1.3184 (20 Bsvaev)

5 1; =736 x107%m; I, =530x10"%m

€1 736x107%m _
& 530x1072m 1.3886 (o0E @svme)

6) l; =796 x107%m; I, =569 x 10~ %m

g1 _ 796 x1072m ‘
&g 569x10~2m 1.3989 (2108 Bsveev)

1.3498+1.3760+1.3676+1.3184+1.3886+1.3989 __ 8.1993
6 T 6

FyrFIf] i—: =
Fynaif z—: = 1.3665 (owg @eomev)
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o gmemFaBdm DPDT agmelulesr M1 & M: pewensenLen eissvsiigeisn  Gpiypenenssnsnu]d, Ni&N:
(PN BEDHL 6T  LOeiidBevetimerllen  sIdf(penaideamenuld @emewibmald. ME&N ol QuTEl  (pemeodErHL 6o
Wit (pSHSHLomelenit EeneurdEHa|LD.

o WeiiHBIey GeudbevTehd] lsiiBevena Qewamisdl SiGei FHEFU Bembd I eow Grésalb.

e  BBs6umeL GLallwsd Weidevalanr FwaQEul Bembd Iy @GNsEHIBCBTsETR]D.

o 1feiisemL rpBlenw FHOFUISH OeusiBeom FIOHTOFUI [SENMMBIGHENET DisTENL LD

& l
o OoueiBoum I wpmid ly wHIBMETECBTEIH 8—1 = l_l &6\ LD
2 2
pigey:
B Weiseveiseien Lsialus@elmaselsn Hoa] i—l = 1.3665 (ome Bsvamev)
2

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net - Nogl,Equcatianal Vi ebsite in Tamilnadu

K.I'YYAPPAN PG ASSIST., GHSS V.PAGANDAI

4. o wrjsaler CHBpHIEMeNE SFILITTSHH60

eumuIum(®:
lo TfEHellen (PpHev CHBMBLD A+B= A.B
lo njseist @yewimd CHmmid A B = A+B
AB OaTelUEF sBpler o stefhamsl 174
eI HBHI

e wirjsafel (PHe0 BHBMBLD

A~{ >o—|A o
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B
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&M1& (B IH6IT:

W0 CHBBID
2_eiteff® Qeueflui® 4+ B Qeueui® A.B
A=0,B =0 A+B=0+0=0=1 A.B=0.0=1.1=1
A=0,B=1 A+B=0+1=1=0 AB=0.1=1.0=0
A=1,B=0 A+B=1+0=1=0 A B=1.0=01=0
A=1,B=1 A+tB=1+1=1=0 A B=1.1=00=0

@QewiLmd CahmmLd
o eiteff® Qeueiui® 4.B Qeueflui® A + B
A=0,B=0 AB=00=0=1 A+B=04+0=1+1=
A=0,B=1 AB=01=0=1 A+B=0+1=1+0=
A=1,B=0 AB=10=0=1 A+B=1+0=0+1=
A=1,B=1 AB=11=1=0 A+B=1+1=0+0=0

CauIpens:

560 CHBMID

o GBxmmHaen G HILHHID (A+B) LOBBILD  6UEVHILISEHLD (A .B) WTISHBBIHST LILHFHe0 2 _6iTemeury

DIMLOSHHIHOBM6TeN  GousuirBLd.

®  maiHs 2 6eld CalhbmasEnsed, 2 flu CeuefuiBsmen oI Laimentl L{GSHSCa6m B

® o gm0 i Leausweniuied®mbs A+ B = ZE eTeur L SBULGHMBS).

@rewi_mbd GxHmmLD

o  GBammHalen @ HiLSHID (A.B) OBHID  UEVHILIGHID (Z-FE) WITISHBBIHET UL HFH60 2_6iTemeumy

SIMLDHHIHOEH 66N  Goueuin(BLD.
® smashg 2 66 CsTsmaseEns@, 2 flu GaefuiBsmer I Leamsmil LGSSHCaem B

® o guienip i Leumeniuledmbsh @ A.B = Z+§ o160 HlepLlSbSLILIGSMSI.

Ot

o LTjHeNe (PSHeO LoBEID ETewILmDd GCHHBmmiEeT BlapLildsLIL L 6.
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5. oo B (6T
edlwielr  &FLoem(

OR Ga&Ll. Y=A+B
AND @GasL_ Y=A.B
NOT Gs. Y =4
NANDGs:. Y =A.B
NOR Gt Y=A+B
EX-OR Gst. Y=AB+AB
GPWG ‘ A ‘ SIVG
A B OaTeuUs sppler o sTefhasl vV
Y CarTelus amnlsn Gsuellui® 14

OGHIHBE LILLD:

GCaL 2 _GUOT6MLD L _L_6)60)600T

Y=A+B

OR GaL.

i =1=1p>
==

AND GsL_ B 3

L =l=1p>]
==

|

1 Y=A
NOT Gsi A Dc

o>
ol

<
I
=)

NAND @G- B = 3

3 _
A Y=A+B
NOR @z B 1
2

1

A Y-AB+AE
EX-OR GsL
B 3
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s Bt
OR GaL_ Y=A+B
2 sirel® A=0,B=0 |A=0,B=1 |A=1,B=0 |A=1,B=1
Qeuefiui® Y=0+0 Y=0+1 Y=1+0 Y=1+1
AND Gs'. Y =A.B
o _sitef® A=0,B=0 | A=0,B=1 | A=1,B=0 | A=1,B=1
Qeuafllui® Y=0.0 Y=0.1 Y=1.0 Y=1.1
Y=0 Y=0 Y=0 Y =
NOT Gal Y=4
01 (1) A=0 A=1
Geueflui® Y=0 Y=1
Y=1 Y=0
NANDGsr. Y =A.B

2 ansl® A=0,B=0 | A=0,B=1

7
[REEN
o9)
1]
o
>
I
[EEN
w
I
[EEN

(=]

Gauaflui®

ia e S
Il
= O =

NOR GaL- Y=A+B
o siel® A=0,B=0 | A=0,B=1

>
1]
[N
vy)
1
o
>
1
[EEN
vs}
1
[EEN

Y=0+0 Y=0+1 Y=1+0 Y=1+1
Geuefiul® Y=0 Y=1 Y=1 Y=1
Y=1 Y=0 Y=0 Y=0
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Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com
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